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Ogds4d £=X Zdl  300,000,000& *0.72% 2,160
= 1,512
< 324
Al 324
402 RI2FXt20| ™ 440,000 138,000 302,000
= 308,000
< 66,000
Al 66,000
02 QI 2 A EZ (01X TH ) 440,000 138,000 302,000
Oge H2A ALOIIEIHATY L =2TRE
Zo HY 440,000
= 308,000
< 66,000
Al 66,000
FIKE 23N L SER3M E«FH NJA(HA 250,000 0 250,000
#)(2x)
= 75,000
< 87,500
Al 87,500
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2A: 2302
M 23 2EMS
e RS E=FHH| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
401 AlEHIZL 2 0HY| 250,000 0 250,000
= 75,000
= 87,500
Al 87,500
01 Al&H| 250,000 0 250,000
OJISHMS =% MAIS B 250,000
= 75,000
= 87,500
Al 87,500
CSXNE23M EXFH(BEX) 1,510,000 1,367,800 142,200
& 755,000
Al 755,000
401 AlEHIZL 2 0HY| 1,510,000 1,341,800 168,200
& 755,000
Al 755,000
01 A& HI 1,504,178 1,335,568 168,610
ONBME NLREZA L HYl
270,000, 000& *99.28% 268,056
o= 134,028
Al 134,028
Otdlgatd LR EXA 30,000
= 15,000
Al 15,000
OHSY ASHA MA2A IS L HeBs,
A =HH| 60,000
= 30,000
Al 30,000
ONZY HEXHM 85 U B4z &%, Y
Z & 212,000,000& *99.5% 210,940
= 105,470
Al 105,470
OzlsE Ax41 50,000
& 25,000
Al 25,000
Ogd 228 oxy 2 OIEAEH|
220,000,000 *99. 3% 218,460
== 109,230
Al 109,230
OUisEAMN 2™ &8, 845, =2 JH|
213,000,000 %99 . 4% 211,722
& 105,861
Al 105,861
OHdsn Uad a2, Az, LR
HHES EHEA 108,000
o= 54,000
Al 54,000
O A XY a A=E4 55,000
= 27,500
Al 27,500
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21,000
2,700
6,300

401 AIEHIZ 2 THHI

Jl

= M

30,000
21,000
2,700
6,300

83,000

A 53,000

01 A& dl

OL® MMA AAE 7

A
x
X

=z N X

30,000

30,000
21,000
2,700
6,300

83,000

A 53,000

A
Ot
=
]
HT
Iy
bl
o
HT
A

=z N H

540,000
300,000
120,000
120,000

240,000

300,000

=z M H

540,000
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120,000
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240,000

300,000

= M W
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>
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132,500
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109,600
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27,400
27,400

101,548
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2N 230z
dM: FoM BEEES
¢e: RN 2T (SH9: &)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
202 Od4dl 2,000 2,000 0
01 = LHA YI 2,000 2,000 0
OJIOFREZ MASMSH =& H&X Ast
100,000& »10H »23| 2,000
301 LEMZ 6,400 6,400 0
09 SALAHIX A S 6,400 6,400 0
OJIOFREZ MASMSH =& 28 =2 o
&KX As 80,0003 x40 #23| 6,400
308 XX EHH SOl A 176,000 218,000 242,000
07 XXM RES 176,000 218,000 A 42,000
OJIOILEZ HMARLUE BSRES
176,000, 000& 14 176,000
HEIIOFAL 22 XA & FHUIMS(BEX) 500,000 520,000 220,000
< 250,000
Al 250,000
307 21201 A 50,000 10,000 40,000
< 25,000
Al 25,000
02 QB AAHE X 50,000 10,000 40,000
ooty AIRXZES 8 =3 30,000
< 15,000
Al 15,000
O&ESII0AL s - 88 20,000
< 10,000
Al 10,000
401 AIEBIZ 2018 450,000 460,000 A 10,000
< 225,000
Al 225,000
01 A& Bl 446,904 460,000 213,096
ooty d Z=T A & FHI
170,000,000 *99. 28% 168,776
< 84,388
Al 84,388
O B2l DS L2IMN L F|
130,000,000& *99.28% 129,064
< 64,532
Al 64,532
Odd H2cl &d Al - 23 ZA
130,000, 000& *99.28% 129,064
= 64,532
Al 64,532
OHXE=I0F 23 eHLH & FHI 20,000
< 10,000
Al 10,000
03 A& S THHI 3,096 0 3,096
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170,000, 000& *0.72%

D Y= A 2 FH

130,000, 000& *0.72%

22 M

130,000, 000& *0.72%

= M

= M

= M

1,224

612
612

936

468
468

936

468
468

= M W

34,000
17,000
8,500
8,500

34,000

308 XM S0IH

= M W

34,000
17,000
8,500
8,500

34,000

07 XtXISHH 2t 2

ONAFE BF

=z N W

34,000
34,000

17,000
8,500
8,500

34,000

24,000

12,000
12,000

30,000

A 6,000

307 glztol &

=

24,000
12,000
12,000

30,000

A 6,000

o
S
=
N
ol
0z
=

O
S
e
Ho
ol
J0 @
ps

HT
FA

o
o
HO

02

H

Al

24,000
24,000

12,000
12,000

30,000

A 6,000

AR A QIESAL TR (

4,000

2,800
1,200

4,000

307 glztol &

W

Al

4,000

2,800
1,200

4,000

H

Al

4,000
4,000

2,800
1,200

4,000

55,000
22,000

95,000

A 40,000
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9,900
23,100

= H

307 21201 & 55,000 95,000 A 40,000
22,000
9,900
23,100

= M W

02 I FHAANEEE 55,000 95,000 40,000
AL 23T 2 EAY 55,000
22,000

9,900
23,100

= N W

81 M 3 2EEMY(EX) 75,000 87,500 A 12,500
30,000
13,500
31,500

=z N W

307 glztol & 75,000 87,500 A 12,500
30,000
13,500
31,500

= MW

02 (I HAMAEE 75,000 87,500 A 12,500
Ogw N3 23t 2SAY 75,000
30,000

13,500
31,500

= MW

e BHE EEMY(EX) 180,000 184,000 24,000
72,000
32,400
75,600

= W

307 21201 & 180,000 184,000 A 4,000
72,000
32,400
75,600

= N W

02 HAHFHANGEEX 180,000 184,000 24,000
O &Y 23 AMY 180,000
72,000

32,400
75,600

= HnH

2T o A (EX) 300,000 200,000 100,000
120,000
54,000
126,000

= HnH

307 2I2t0 & 300,000 200,000 100,000
120,000
54,000
126,000

= N H

02 It HAMHEE 300,000 200,000 100,000
OZ23t M OFel A+ 300,000
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2H: 230
dM: FoM BEEES
2 RS2 EEEFH| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 120,000
< 54,000
Al 126,000
MM AE(EX) 55,000 65,000 A 10,000
= 22,000
< 9,900
Al 23,100
307 gl2tol & 55,000 65,000 A 10,000
= 22,000
< 9,900
Al 23,100
02 It M AHE X 55,000 65,000 A 10,000
OMMIITH At 55,000
= 22,000
< 9,900
Al 23,100
JI2JI0F E22& A (EX)(H&AMY) 550,000 0 550,000
< 375,000
Al 175,000
401 AIEHI L 2 CHYI 550,000 0 550,000
< 375,000
Al 175,000
01 A& HI 550,000 0 550,000
OJIZ2JI0F 222 AEAEY 550,000
< 375,000
Al 175,000
SEESM S 161,300 256,900 295,600
< 46,280
Al 115,020
FatR4 Sdst X 40,000 23,000 17,000
307 21201 A 40,000 23,000 17,000
02 ItFAAHE X 40,000 23,000 17,000
Ots2s=0l EXHA 30,000
OHM3al g2se23tA 5,000
OS8 oot ol 5,000
gEsAEES ALY 5,600 5,600 0
307 21201 A 5,600 5,600 0
02 It S AIHE L 5,600 5,600 0
Ods SEHMOIOH|I-d& =22 Jtet 5,600
Heso 85 48t M(EX) 12,000 12,000 0
= 4,800
Al 7,200
301 LEXZ 12,000 12,000 0
S 4,800
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2H: 230
dM: FoM BEEES
Sl RS BSAL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 7,200
12 JE24 =3 12,000 12,000 0
OYsy H&sD NE2Y 12,000
< 4,800
Al 7,200
SLEHEIM dx2ES L SHBAM(EX) 103,700 152,800 249,100
< 41,480
Al 62,220
301 LA F 103,700 152,800 249,100
< 41,480
Al 62,220
12JEt 243 103,700 152,800 A 49,100
ENEREEM s 103,700
= 41,480
Al 62,220
HZH2F A 73,730 90,040 A 16,310
Jl2ddl(2sto=a) 73,730 90,040 A 16,310
Jl=dl 73,730 90,040 A 16,310
201 Let24d] 41,060 54,740 213,680
01 At 22/l 34,560 48,240 A 13,680
Oszesn 22X Y|
60,000 x64 L »1H 3,840
ONBENZ 22X L]
60,0003 x64 «1H 3,840
Oa==2ZHHAZ 22X L2l
60,0003 x64 «1H 3,840
O=%9 X 22X Al
60,0003 x64 «1H 3,840
Oacldga 22X 2l
60,0003 x64 «1H 3,840
ONBLYEZ0I&2 22K LY
60,000 x64 L »1H 3,840
OnNdALZS 2 2RI LA
60,000 x64 L »1H 3,840
OORIOIFAHEND 22X LX)
60,000 x64 L »1H 3,840
Og&o Hd Z22XA LA
60,000 x64 L »1H 3,840
02 232gHl 6,500 6,500 0
O=s22= & HA 6,500
202 O4dl 27,330 30,200 22,870
01 = LH 4 4l 27,330 30,200 A2,870
O2stti=l FR=A 04l 22,330
O=E&tl &2 & Z2AMY F& 220 5,000
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5,100

Off &t 24

5,340
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5,100
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